st

DVWE-M i /5 shih R e Fe ek
AR -EDFH/EO 24°4

L1

L2
s2
Z|0
B -
| S8
— .
©
- .
st S
Q
ol 3 X1)
| |
T
ZD3
L ——
T
3 |
Il
X1) EDE S\
D1
=B IEEH (bar)
77 | ¥ T1 DN | D3 [ L1 |L2 | L3 |L5|L6 | L7 |ST]|S2]|sS3| =/# e CF | VIT
L 06 [M14x15| 40| 19 | 19 [120] 12 [180]200] 27 | 19 | 12 | 14 51 |DVWEOSLMOMD| 40 | 40
08 |[M14x15| 50| 19 | 21 |14.0| 12 [180|21.0| 29 | 19 | 12 | 17 51 |DVWEOSLMOMD| 40 | 40
10 |M18x15| 6.0| 24 | 22 [150| 12 |18.0(26.0| 30 | 24 | 14 | 19 92 |DVWE10LMOMD| 40 | 40
12 |M22x15| 80| 27 | 24 [17.0| 14 |21.0|270]| 32 | 27 | 17 | 22 160 |DVWE12LMOMD| 40 | 40
15 | M27x2 [10.0| 32 | 28 [21.0| 16 |24.0|33.0| 36 | 32 | 19 | 27 236 |DVWE15LMOMD| 40 | 40
18 | M33x2 [16.0| 40 | 31 [235]| 18 [275|375] 40 | 41 | 27 | 32 405 |DVWE1SLMOMD| 40| 40
22 | M33x2 |16.0| 40 | 35 |275| 18 |27.5(395| 44 | 41 | 27 | 36 409 |DVWE22LMOMD| 40 | 40
28 | M42x2 |220| 50 | 38 |305| 20 [31.0|44.0| 47 | 50 | 36 | 41 660 |DVWE28LMOMD| 40 | 40
35 | M48x2 |250| 55 | 45 |345| 22 [35.0|54.0| 56 | 55 | 41 | 50 1012 |DVWE35LMOMD| 40 | 40
S 06 [M14x15| 40| 19 | 23 [16.0| 12 [180(21.0| 31 | 19 | 12 | 17 59 |DVWEO6SMOMD | 100 | 100
08 |[M14x15| 50| 19 | 24 |17.0| 12 [180|220| 32 | 19 | 14 | 19 66 |DVWEO08SMOMD| 100 | 100
10 |M18x15| 6.0| 24 | 25 [175| 12 |18.0|27.0| 34 | 24 | 17 | 22 113 |DVWE10SMOMD | 100 | 100
12 |M22x15| 80| 27 | 29 [215| 14 |21.0|28.0| 38 | 27 | 17 | 24 153 |DVWE12SMOMD| 100 | 100
16 | M27x2 [10.0| 32 | 33 [245| 16 |24.0|34.0| 43 | 32 | 24 | 30 284 |DVWE16SMOMD| 100 | 100
20 | M33x2 [16.0] 40 | 37 [265] 18 |275(395 48 | 41 | 27 | 36 427 |DVWE20SMOMD| 100 | 100
25 | M33x2 |16.0| 40 | 42 |30.0| 18 |27.5|425| 54 | 41 | 36 | 46 581 |DVWE25SMOMD| 100 | 100
30 | M42x2 |220| 50 | 49 |355| 20 [31.0(48.0| 62 | 50 | 41 | 50 898 |DVWE30SMOMD| 100 | 100
38 | M48x2 |250| 55 | 57 |41.0| 22 [35.0(55.0| 72 | 55 | 50 | 60 1373 |DVWE38SMOMD | 100 | 100

* REHTHFEBRFE, SR RF RN BRI S SRD6R

ITHRSER
[7Ei EpS1 w1 FRAEZ R
R
. W,
%E’Egﬁ FAiEEs  |CF DVWEOSLMOMDCF  |NBR
sames M VITCF DVWEOSLMOMDVITCF

m K20 et 4100/CH



